36 neiER SECEL-sELAant »www.iwatafa.jp  [[EIP @5 %E#R » monodukuriiwata-fa. jp

i C P &L B A
SC|

P N T :
. IYEHS IS5 TUVIN—F | =znies

ISV TUN—Dfcd  TEL U CTHECHDNIITNTERT,
AR D I B EIC KD A EWVWATHESD T ETEE,

eI

IJYENS—CEE

229 SUS304
WEits| ME  RENE B MBI
74 £ (SUS304 EYTF>a— ) 11AE
3% S45C 55 FLR—1%K
S BED 2 U8 (SUM22L, B#)
LIN—ER (BSR4 1 H R b EFERLE) SCK1015 @ @
7% E (SUS304) 118 AZ10mm. fE15mm. RRH B ILN—T L —
s ATl R VA AYZAGF:S
SUS304 * Y85 (SUS303)
LIN—ER(BRE 1 H R b EBFERLE)

W& (V527L8-)

S &
® | vwn—s—-1 |
->¢iLE Il
© e |
BGL © mm
T BINT 3k
N (R 2
a1z e H- ¥
32 N\ x]
© S
N
M
L/2 P 3
' (F)
L+0.1 =— [ [0.01]A]

HIREICTHEDBHSAE RMICHTTIERIES

SUS304
(o] 5
10 15 35 12.1 9.5 498 | M6x25 | SCK1015]O | 1,910 | 2,780
12 15 38 12.1 10.5 50 M6x25 | SCK1215(]O | 1,910 | 2,780
15 15 40 12.1 12 53.4 M6x32 | SCK1515]O | 2,020 2,890
16 15 42 12.1 12 545 M6x32 | SCK 1615 1O 2,020 2,890
20 15 46 12.1 14 539 | M6x32 | SCK2015[]O | 2,080 3,170
25 15 50 12.1 16.5 556 | M6x32 | SCK2515(]O | 2,180 | 3,440
30 15 56 12.1 19 59.1 M6x40 | SCK3015]O | 2,350 3,930
35 20 65 14.1 225 60.7 | M6x40 | SCK 3520 ]O | 2,510 | 4,360
40 20 70 14.1 25 65.4 | M6x50 | SCK 4020 O | 2,680 5,350
50 20 85 14.1 295 72.7 M6x50 | SCK 5020 1O | 3,220 6,540

O7Z>TLN— 38 ML 74 5IN-m T CERATE,

;

iwata





